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1. (10%) 4<.~Fll (limit) : 

2. (10%) ~~i&it 

lim Xsinx_ 
X---tO+ 

1 5 4 3 2 f(x) = 5x - x + 2x - 2.r + 5x - 3. 

(A) ~~:ff-¾±-'l'"it c i~Jl f(c) = 0 ° 

(B) ~r,,,~'l'"it ck 1i"it-? 

3. (10%) ~~i&it 
x!(x-4) 2 

f(x) = #+g. 
· x2 +9 

4t.::. ffl '"it (derivative) /" ( 4) 0 

4. (10%) ~ R 1,\ tlh ~ y = ...[i ~ x-~-i± [O, 1] I& rsi PIT II]~ a!J-f- uo I&* 0 4t R 
~~A~x=-l~-ffl~~~~-tta!Jft~ 0 

5. (10%) ~it f: (o, ~)-(½, 1) ~A~T: 

1 
f(x) = 1 + . 2 • sm x 

(A) ~~ tl:: f t/.J&.~it r 1 (x) O 

(B) r 1(x) ,i±J6 x= i k1iaftl~? *k' ~4<-tl:: u-1YU) 0 



-

i ?Jr J)1. m %11 : !t 4ir# ~ FJt. ~ t-<JI. 

~1~# El ( 1t~!!i) : ~ffi-~ (0601) 

6. (10%) *~ ~;ft$} : 

7. (10%) 1Fl~ p ~--..-Ji p > l' ¥1Jlfr11Jta•k~iliM. 0 iftfl.BJLt !!I 0 

f, Inn_ 
LJ nP 
n=l 

8. (10%) ~~-=-~-~-
( ) 

_ x4 + sin2 (2y) 
f X, y - x4 + y2 ' (x,y) -:/= (0, 0). 

tA:r.,,~Rl (x.J~o.oif(x,y) k ~;(f;ff_? 

9. (10%) *-=-~-~-
2 32 13 14 

f(x,y) = x- - xy- 4Y + :? + 4Y 

fr-] l§ :ff~{i (relative extrema) 0 

10. (10%) *T11J.::--j:;ft$}-ft.: 

(A) Lrr sin(y3 cosx) dA, *- 'f R = [-2, 1] X [-3, 3] 0 

JR ✓l +x2 +y4 

(B) IL ex
2

+Y
2 

dA, *- 'f n ¾1'-1:l'!.00 x2 + y2 = 1 ;ff_ xy--too i- !tJilPJT 

lfl/&ff.J-too~~ 0 


